

Analysis of Wing (NACA 0012 Aero foil) with and without Winglets to Enhance Aerodynamic Efficiency

Parameshwar Banakar*

Department of Aeronautical Engineering, KLS Gogte Institute of Technology, Karnataka, India

ABSTRACT

Aerodynamic drag can be reduced by modifying a wing's geometry and the wingtip design. Winglets play a vital role in the wing design. The winglets present at the tip of wings helps in reducing the drag and that results in increase of lift to drag ratio.

This work deals with the analysis of winglet at the tip of wing to reduce the induced drag in order to enhance the aerodynamic efficiency. Considering the NACA 0012 airfoil for the rectangular wing and two types of winglets *i.e.*, wing grid, blended wing so as to analyze performance of each. The focus is to study the lift and drag forces generated by merging winglet design with the constrained aircraft wing. The wing and wing with winglets are constructed in the solid works software and the same has been analysed in the ANSYS fluent workbench. The effects on lift and drag of the wing can be obtained using computational fluid dynamics considering the contribution of aerodynamic forces and winglets.

At last, the efficiency of wing was further determined by evaluating lift to drag ratio with obtained lift and drag forces and the comparison was made between the winglets used based on its performance and contribution to the enhancement of the aerodynamic efficiency.

Keywords: Winglets; NACA 0012 aero foil; Lift; Drag; Aerodynamic efficiency; Solid works; Ansys fluent

INTRODUCTION

In this work comparative and quantitative analysis of various types of winglets are done in order to achieve better aerodynamic performance for lighter aircrafts and through this analysis, identified key parameters which influences winglets efficiency [1-3].

Fuel efficiency is directly linked with aerodynamic efficiency hence fuel efficiency will be good which results in low emission and less operating cost.

Here the major concern is lift to drag ratio because as lift increases along with it drag increases. Hence higher lift does not always signify better performance as it produces high drag. Therefore, lift to drag ratio is the optimum measurement of performance and it is called as aerodynamic efficiency in this work. In this paper analysis are made to compare and study the aerodynamic characteristics of rectangular wing and wing with winglets. A parametric study is made modifying the winglets in order to optimize aerodynamic and fuel efficiency, as well as investigate the effects of surface roughness on the turbulent boundary layer.

In this work NACA0012 aero foil's lift and drag characteristics curves are developed. In many constructions this aero foil is used hence this aero foil is considered for the study (Figures 1).

Correspondence to: Parameshwar Banakar, Department of Aeronautical Engineering, KLS Gogte Institute of Technology, Karnataka, India, Tel: 8970494105; E-mail: pmbanakar@git.edu

Received: 10-May-2022, Manuscript No. JAAE-22-17421; Editor assigned: 12-May-2022, PreQC No. JAAE-22-17421 (PQ); Reviewed: 26-May-2022, QC No. JAAE-22-17421; Revised: 09-Jul-2022, Manuscript No. JAAE-22-17421 (R); Published: 16-Jul-2022, DOI: 10.35248/2168-9792.22.11.286

Citation: Banakar P (2022) Analysis of Wing (NACA 0012 Aero foil) with and without Winglets to Enhance Aerodynamic Efficiency. J Aeronaut Aerospace Eng. 11:286.

Copyright: © 2022 Banakar P. This is an open-access article distributed under the terms of the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original author and source are credited.

MATERIALS AND METHODS

Methodology



Research starts with designing wing models with winglets of different structures using solid works software and analysis of that wing with winglets are meshed and analyzed through Ansys fluent for various angle of attacks and finally the results are compared and concluded (Figures 2-34, Tables 1 and 2) [4-8].

MODELLING AND DESIGN PARAMETERS AND INPUTS

Rectangular wing

Span: 300 mm

Chord: 150 mm

Aspect ratio: 2



Figure 2: Rectangular wing.

Blended Winglet (Assembled to Main Rectangular Wing)

Span: 75 mm

Chord: 45 mm

Aspect ratio: 2.5

Cant angle: 45°



Figure 3: Wing with blended winglet.

Grid wing (assembled to main rectangular wing)

Span: 75 mm

Chord: 30 mm

Aspect ratio: 2.5

At can't angle 45°



Figure 4: Wing with grid wing winglet at 45° cant angle.

Solver type-pressure based Viscous model-Spalart-Allmaras Boundary conditions: Inlet-Velocity based (30 m/s) Outlet-Pressure based **Meshing** Inflation (Total thickness): No. of layers-10 Maximum thickness-4 mm **Edge sizing:** No. of divisions-420 **Rectangular wing**



Figure 5: Meshed model of rectangular wing.

Blended winglet (assembled to main rectangular wing)



Grid wing (assembled to main rectangular wing)



RESULTS AND DISCUSSION

CFD counter plots

Wing without winglets:

a) At 0°-Velocity contour



b) Pressure contour





Figure 9: Pressure contour of wing at 0° .

a) At 4°-Velocity contour



Figure 10: Velocity contour of wing at 4°.

b) Pressure contour



a) At 8°-Velocity contour



Figure 12: Velocity contour of wing at 8°.

b) Pressure contour



Figure 13: Pressure contour of wing at 8°.

Wing and Winglet

a) At 0°-Velocity contours



Figure 16: Velocity contours of blended wing and winglet 4°.

b) Pressure contours

a) At 4°-Velocity contours



Figure 17: Pressure contours of blended wing and winglet at 4° .

b) Pressure contours





<u>1.</u>

1-



a) At 8°-Velocity contours



b) Pressure contour



Figure 19: Pressure contours of blended wing and winglet at 8° Wing with grid winglet (Can't angle 45°)

a) At 0°-Velocity contour



b) Pressure contours



Figure 21: Pressure contours of wing with grid winglet of 45 cant angle at 0° AOA.

a) At 4° AOA -Velocity contours



Figure 22: Velocity contours of Wing with grid winglet of 45° can't angle at 4° AOA.

b) Pressure contours





a) At 8° AOA-Velocity contours



Figure 24: Velocity contours of wing with grid winglet of 45° can't angle at 8° AOA.

b) Pressure contours



Figure 25: Pressure contours of Wing with grid winglet of 45° can't angle at 8° AOA.

CL and CD plots

Wing without winglets

I) At 0° AOA



Figure 26: CL and CD plots of wing without winglet at 0° AOA.

II) At 4° AOA



OPEN O ACCESS Freely available online





Blended winglets





Banakar P

OPEN O ACCESS Freely available online

II) At 4° AOA



III) At 8° AOA





Grid winglet (45° Cant angle)

I) At 0° AOA



Figure 32: CL and CD plots of Grid winglet at 0° AOA.

Banakar P



OPEN O ACCESS Freely available online

III) At 8° AOA



Table 1: Result table.

Type of wing	Coefficient of lift (CL)	Coefficient of drag (CD)	Aerodynamic efficiency (CL/CD)
Without winglets (0° AOA)	0.00016	0.01886	0.00848
Without winglets (4° AOA)	0.25871	0.02396	10.79757
Without winglets (8° AOA)	0.51382	0.03948	13.01469
Blended winglet (0° AOA)	0.01494	0.01877	0.79595
Blended winglet (4° AOA)	0.29519	0.02308	12.78986
Blended winglet (8° AOA)	0.57515	0.03593	16.00759
Grid winglet (45° cant angle) (0° AOA)	0.00448	0.020563	0.21789

Banakar P

OPEN O ACCESS Freely available online

Grid winglet	0.30253	0.02706	11.17997
(45° cant angle)			
(4° AOA)			
Grid winglet	0.59715	0.03692	16.17416
(45° cant angle)			
(8° AOA)			

Table 2: Validation.

	CL from Ansys	CL from Matchup
Without winglets (0° AOA)	0.00016	0.00015
Without winglets (4° AOA)	0.25871	0.3243
Without winglets (8° AOA)	0.51382	0.5382
Blended winglet (0° AOA)	0.01494	0.01268
Blended winglet (4° AOA)	0.29519	0.3721
Blended winglet (8° AOA)	0.57515	0.6414

From the above table, it is seen those results from Ansys and results from Matchup are in good agreement with minimum variation which is less than the variation accepted *i.e.* ± 10%.

CONCLUSION

Analysis of rectangular wing of NACA 0012 airfoil without winglets, with blended and grid winglet has been carried out at three different angles of attacks where CL and CD values of each were drawn, subsequently finding the aerodynamic efficiency in all the cases. Hence the two conclusions are drawn from the work.

Firstly, it was seen that the wing with winglets showed more aerodynamic efficiency than wing without winglets concluding that usage of winglets enhances the aerodynamic efficiency of the wing.

Secondly, on comparing the results of blended winglet and grid winglet, it was found that grid winglet at 80 AOA possessed greater aerodynamic efficiency. Hence it can be concluded that Grid winglet is more efficient than Blended winglet.

REFERENCES

- Usherwood JR, Lehmann FO. Phasing of dragonfly wings can improve aerodynamic efficiency by removing swirl. J R Soc Interface. 2008;5(28):1303-1307.
- 2. Lai YC, Barkan CP, Onal H. Optimizing the aerodynamic efficiency of intermodal freight trains. Transportation Research Part E: Logistics and Transportation Review. 2008;44(5):820-834.
- 3. Panagiotou P, Yakinthos K. Aerodynamic efficiency and performance enhancement of fixed-wing UAVs. Aerosp Sci Technol. 2020;99:105575.
- Wang ZJ. Aerodynamic efficiency of flapping flight: analysis of a twostroke model. J Exp Biol. 2008;211(2):234-238.
- Thompson BE, Jang J. Aerodynamic efficiency of wings in rain. J Aircr. 1996;33(6):1047-1053.
- 6. Gaunaa M, Johansen J. Determination of the maximum aerodynamic efficiency of wind turbine rotors with winglets. J Phys Conf Ser. 2007;75(1):012006.
- Zhu H, Nie H, Zhang L, Wei X, Zhang M. Design and assessment of octocopter drones with improved aerodynamic efficiency and performance. Aerosp Sci Technol. 2020;106:106206.
- Johansen J, Madsen HA, Gaunaa M, Bak C, Sørensen NN. Design of a wind turbine rotor for maximum aerodynamic efficiency. J Progress App Wind Power Con Tech. 2009;12(3):261-73.